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I Ry T 5B B 0 ¢ SRR M R L g E > TR
—‘F*{ At I L oenig 4 ? The scale of online shopping platform continues to expand,
and it has gradually impacted the development of the related retail industry. Which of
the following does not consider an advantage of the platform?

(A) F &= A< lower operation cost

(B) A &H - {£# iv standardized product

(C) % & 7 ¥ gt synergized with physical channel

(D) # % 7 BFpF R 2_*34] unbounded by space and time

2. %4 % RJE £ & £37:2 B 1 ¢ The manager of a restaurant chain asks his new
employees to:

I #PRF F ~ JRA+nAR » R4V P % Jp 27 3% & - & Dress code, service
procedures, and promotion instructions must be consistent with the requirements of
the headquarters

II P32 RfFREEMNER 3R § %% 5 {cé Internal staff
responsible for making drinks and meals, and external staff responsible for food
delivery and cashier

I & f37:2 4 B 2B 27 %t ehip WL g B-ig £ New recruits are
required to refer to the company’s manual for a quick start.

R gl ik B R RS F R R ? Which of the below order best described
the company’s operating principles?

(A) =% -~ fFH i~ - & %1 Standardization, Simplification, Specialization
(B) f§ H i+ ~ & v« % F i Simplification, Standardization, Specialization
(C) &% i- ~ &L %« f§ H i Standardization, Specialization, Simplification
(D) & % ~ &% - @ H v Specialization, Standardization, Simplification

30 ML A - R AT - A B EGIIR TR SRS 0 R TR
48 3¢ & vR— 38 J '|? Miss Chen bought a life insurance policy for her friend but the
insurance company rejected her application. Which principle has Miss Chen violated?
(A) P& B Bl Indemnity (B) i1 #]1/» B Proximate cause

(C) = % Z % & Pl Utmost Good Faith (D) ¥ %4 & / P| Insurable interest
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4, Rao pyrgkd 2 P4 i B A B B apRas VO YrRE S 3] PR "F'i‘ gt L
ﬁu@ﬁwwﬁmw%ﬁ’¢rwWﬁ&ﬁATwmﬁmwﬁ%ﬁﬁg?

A well-known bicycle company launched an exclusive service for buyers to engrave
their names on the bicycles to create uniqueness. Which of the following modern
business characteristics best described this type of service?

(A) &~ 1 & ¥ i Specialization (B) 5% B% it Internationalization

(C) ® =% Customization (D) 5% % 4 i* Diversification

50 BRI P A FR7B 2 ME KANBER T N EREL DI BT
RIZZS ¥ 6 Teet — BeE g > T 7P 4 2 85%73 B 2 R R 7 Assuming

that the brake system of a new car produced by an automobile company is defective,
which may cause a serious car accident. When the company is facing this serious
crisis, which of the following should not be the crisis management principle?

(A #FELERB L > EF 2 ho o BB FIL To prevent the incident
situation from out-of-control, the company should evade the issue and handle it
quietly

(B) 1# 2 w97 ¥ v F BRBRDD R 0 TR L F A As w4TH B Actively
recall all defective Vehlcles for overhaul, even 1f the cost is high

(C) == = B8 ] fe > 2 5— 3 % 2 4 Setup a crisis team immediately to
release information in a unified manner

(D) BF L i é ~ WA SBRV w FReHE + § - Inform the public
honestly of the major casualties that may be caused by the defect of the product

T AR- IE g )5 A RA S R B Fahst a4 ? Which of the following
levies will weaken the competitiveness of domestic products in foreign markets?
(A) B # Excise duty (B) ' ¢ 4& Export duty

(C) i& v & Import duty (D) # % # Goods and service tax
TEFR2H D FOFE > AL EEE L BEIING AL ER o £ ¥

Fld BB 11T b ed® o s BT IR F - A F 2 With the development
of the global market, most companies cannot afford all value creation activities. As a
result, companies outsource part of their work. Which one is the characteristic of such
modern business?
(A) & ¥4~ 1 Specialization (B) F 4 it Capitalization

% &

(C) % i Networking (D) it Diversification
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8. ~ P L FEEBRELF A3 LD P 5 v 10T 3 £ 2 What are the reasons
for some partnerships to incorporate into a private limited company?

II %% %% £ Raising more funds

I p o &% %48 Transfer stocks freely

IV &K$ 3 "UiF 4+ % = Limited liability

(A) T, 11, TIT B)LILIV  (C)LULIV (D)IL I, IV

I 4 % et 1 Business succession

0. FHFMUEEEHEH > FRABEHAUS G HFEL S H G F
PR RAIEM G ER > Bt e a4 2 2 A Taiwanese town is rich in growing
golden diamond pineapples. With these pineapples, a farmer made into pineapple
cakes for sale at a gift shop. What do you called this kind of wealth creation activity?
(A) R 4-# #Z Primary production (B) »z* 4 & Utility production

(C) = ¥4 Z Industrial production (D) ¥ 334 A& Labor production

10. 7™ #jomi frgs 4 7 ORI 0 e S G F ? Which of the
following taxes are paid by merchants, but ultimately passed on to consumers?
I i A #71¥ f Personal income tax II i} % 42 Goods and service tax

III = # 4= Corporate tax IV B 4 Customs duty

(AL, IV (B) IIL, IV (O) L 1I (D) 11, IV

1 RRZH2PRHNES - FAT AR 22 E e AN A8 G FLny
WA G B R e iR dF R H 0 AR R R HenE R RE P A
company launched four different brands of shampoo: fragrance, fresh, bright and
black, each with a specific brand image to attract different preference groups. What
target market selection strategy is this?

(A) B¢ ;¢ 74 Concentrated Marketing

(B) i# A it {74 Personalization Marketing

(C) = ¥ {74 Mass marketing

(D) £ & it 74 Differentiated marketing
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12 3 ~ #2021 # 6 7 21 p 3| - 3B 4417 RM6,500 et &> K3 p #p &
FEe6? 10 p oo T RN L L Fendcit o vR— 38 E_ Fren? David Wang
received a cheque for RM6,500 from Harbour Bank on June 21, 2021, the date of
issue was on June 10 of the same year. Which of the following statements about

payment by cheque is correct?

(A) =4 - %P L £ It’s an expired cheque

(B) & &7 »x¥p 1 2021 # 12 7 10 p The cheque is valid until December 10, 2021
(C) 2 ~ #HE % £ + David Wang is the issuer

(D) # ERiFenfpk » v 155 RM6,500 5 4% There is a minimum RM6,500

deposit in the current account of the receiving bank

13, T A g b A 2§ ZHE &0 34 & B ? Which of the following is
irrelevant or unrelated to how listed companies raise their funds?

(A) & &8 b Sale of futures (B) % 7% & Issue shares

(C) # {7 = @ i Issuance of corporate bonds

(D) % {7 "4 3% Issuance of rights issue

14, r2 ™ wREs § sx o iF iig?] er14F ¢ 2 Which of the following are the characteristics of
air transport?
I b 438 % 5 3 Reduce the damage of cargo transportation
IT i & %% 44 Able to arrange routes flexibly
III :#:i%:% & ¢ Fast delivery
i § ${ ¥ Cheaper transportation
(A) I, H (B) I, III (C)IL, IV (D) III, IV

IS, ™ ieH g+ “R=BFw g P &% AT i A 512 Which of the
following is the possible cause of the dissolution of the "Zhang San and Li Si
Partnership"?

(A) e @d)d 8 052+ 47 Li Siretired and replaced by his son

(B) # w #% B84 F £ Li Si withdraws part of the funds

(C) 3% = /L » § £ Zhang San increased the funds

(D) x5 % =% 3+ A % +:t& P Did not appoint an auditor to review the accounts
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16. Shopee Z_j >+ 7|o%— #84|  «h £ ¥ - Which of the following types of business
is Shopee belongs to?

(A) Click

(B) Brick

(C) Brick and Click

(D) r2F % 2 None of above

17. ?i’ii % X - FUEFF LA G PR R R o T g M AL D
& st > vRik §_ 1 g en? Mr. Li plans to participate as a franchisee of a fast food
restaurant chain. Which of the following statements about Mr. Li’s business are
correct?
I 24247255 5% p 14 Mr Lidoes not have operational autonomy
II e ¢ %32 ohde 8 #  #F The food materials that the Licensing
company sells to Mr. Li are more expensive
II %4 % 2p & if4e 5 P~ 2448 Mr. Li must pay franchise fee to gain
control

V B R enp eh ke R 2 6 4o B R 4P P The interior and exterior design and
decoration of the store are the same as other franchised stores
(A)L 11 B)LILIV (C)LILII  (D)IL LIV

18. =7z £ A€ F ek ¥ 4 § & p w8422 Where does the ultimate force
come from for the successful implementation of corporate social responsibility ?
(A) i} ?’ * jﬁ“ﬁé #2ht5 i Consumer trust in merchants

B) &£ # mzﬁ 4612 &% Moral cultivation of enterprise decision makers
(C) R xeamxr ]‘\ Employees' demands
(D) i# =222 H Laws and regulations

19. 17 P {fLsg 8 cha g n’.]%ﬁg') el g5 BARY > RfPP rEHEMRD 3 R o
¥INIR P enfT 5 0 0T PR - I 4y it & i ¢1? Amin suspected that his supervisor
had stolen the company's funds for personal use, but Amin chose to ignore it.

Regarding Amin's behavior, which of the following descriptions is appropriate?

(A) &22 1 £ 532 Legal and ethical

(B) # &1 {2 & &72 lllegal but ethical

(C) &7 # & i3 Legal but not ethical
(D) #* &322 {4 & 532 Illegal and unethical

5
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200 EAA BERp FAF LR AMEBILIPELY OB X BEMRL G T R
FRES-LER A R TAPARY A LSS & B DT & ? Mr. Wu wants
to start his own business, but he lacks the knowledge of business management. At the
same time, he wants to reduce risks , yet with decision-making and management
autonomy. Which of the following chain types best meets his needs?

(A) %=+ B License Chain (B) p Eg4c B Voluntary Chain

(C) ##3F 4 B Franchise Chain (D) E % i 4} Regular chain

21, TR Aaf g A g P E 5 B2 Which of the following statements is
relevant to certificates of origin?

I T5v B33 RAMA2ZEGHE Asevidence of preferential tariff for importers
I @i %24 KW 7enA & Avoid importing products from restricted countries
III i& - 7 % p2enik 5 Basis for the importer’s claim for compensation

IV &2 & & B 72 P Proof of product quality

(A)L1I (B)LIV (O)ILII  (D)ILIV

22 EAL EWW I ERBRUIAC © 545 B VRET REBE o ELD
£ 5 VR 2 g ch g ¥ R Ay ? Mr. Zhang opened a shoe factory in the WW industrial
area, provides employment opportunities for local residents. What kind of
entrepreneurial ability does Mr. Zhang have?

I &#h ' Risk taking II ¢ 25 # Management ability

III g1 ¥4 4 Entrepreneurship IV ¥ £ 225 Abundant financial resources

(A) L 11, 11T B) LI, 1V O L1, 1v (D) 11, 111, IV

23, T AT AT B 5 A (stakeholders) szt e —‘g % 2t Which of the following
statements about the 'stakeholders' is incorrect?

(A) FIZ B 2 4 g LA T - 37 The needs of the stakeholders are often the
same

(B) F1F B 02 A dpeh 8 A g £ % Pl re 2 7 69 4 A stakeholder is
someone’s rights and interests are affected by an organization's policies or actions

(C) Fefrdts At & #5713 B % £ Government agencies are also
stakeholders of enterprises

(D) &£ ¥R TBEF F AT B %A kLA Companies must set priorities
to satisfy different stakeholders
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24, TR § ¢ ] A ¥ ey 48442 Which of the following are the operating
trends of small and medium-sized enterprises?

I & & &4 it Product branding Il !§ %55 ¥ ¥ Managing by experience

III #% & £]#7 Value innovation IV % 1 i¥% Manual operation

(A) LTI (B) L IV (C) I, TIT (D) 1L, TV

25, REREAFOFPHOMABAE KPP IEHIPMGF IMELE F HEL R
e G R RS FRRABF B FN G T RD A A
12 e i ? Zhang Meili is the chief financial officer of a company. She is currently
taking inventory of the company's cash in hand, securities, and accounts receivable.
What kind of financial management is she performing?

(A) 173 %] Financial planning (B) P4#+#- 4] Financial Control

(C) ¥&F A ¢ 7 Working capital management (D) ¥ £ %4 Financing

26, 3 e @ ety A 4T 58— 31?7 What is the “limited” in a limited company
referring to?

(A) # ¥ %f Capital investment (B) & *  Shareholder

(C) f1iE~ % Profit share (D) % #+% = Liability

27. T R K A A &3t ] = A ? Which of the following costs is not a fixed
cost?

(A) ¥ % 1 = & Indirect labor costs

(B) B % = A& Plant cost

(C) & 4 #L= x Raw material cost

(D) ¥ ®k % = &~ Equipment cost

28. 5 PART F A H 2R3tk v L & 7 Why are unit trusts less risky

than shares for investors?

I %% < Low cost IIix#s 4% High liquidity
III % # ¢ 7 Managerial expertise IV % =~ * # F Diversified investment
(A)LIT  (B)LII (O 1L, IV (D) 111, 1V
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29.ABC = @ #-F § RMI15 04 & > T H = RM14.90 » ABC = & E 4% = Ak
1% i L v& ? ABC company priced the product with the actual price of RM15 at RM
14.90. What kind of pricing strategy did ABC Company adopt?

(A) ™% # Low pricing (B) % % ¥ High pricing

(C) #4 =¥ Promotional Pricing (D) =32 Z_§ Psychological pricing

30. = @ 4 b 4z » RM200,000 > = 15 40% > #F & 5 f RM10,000 » # 4~ i b
RM30,000 » B 75 f i 5 % @ ? Sales revenue RM200,000, gross margin 40%,
ending inventory RM 10,000, beginning inventory RM30,000. What is the inventory

turnover?
(A)4 = 4times (B) 5 =t 5 times (C) 6 =& 6 times (D) 7 = 7 times

3l FFRrF RFERAPN B AEOFE > REF a4 HIREE A Ry >
BREFCE U T SR A 5V if & ¢t P o o If a government intends to support the
development of weak domestic industries so as to enable them to compete against
large international companies, it can do so in the following ways:

(A) "% M2 B F Lower import tariffs

(B) B~if g v & F-efegp *4] Remove quota restrictions on imported products
(C) ¥R M A7 & 747 Bt Subsidies to domestic manufacturers

(D) 12} ' 2 None of above

RUASERRIAMHEN FERIIOCPEOFFEERT PR FORT T 8
A &4 P awtip prE 2 At what point in the product life cycle does the
company have to invest in R&D and consumer education while selling a product at a
higher price and a low volume?

(A) ¥ » # Introduction (B) = & # Growth

(C) = 3 Maturity (D) %:i3% Decline
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33, M ENALE F E B i P —‘]!—T H_i* £ 1? Which of the following
views of social responsibility is correct?

(A) &5 A€ F EPR 7 T~ L% L B Socially responsible firms only
maximize shareholder profits

(B) £ F4¢ F EAHF ¢~ i LA FIE Socially responsible firms maximize
shareholder profits

C) EFAEFETRMP EREFENT DA SFEIRIFIS L) 7 "'F’f Socially
responsible firms provide genuine products and services to satisfy consumers
(D)Band C

34, B ¥ n¢ wend & F$H F_ A ? What is the main activity of a specialized
logistics center?

(A) ¥ &2} & Pricing and retail

(B) :# ﬁi%]r»i’ £ &% Transporting and storage

(C) E4f& B 2 Promoting and Advertising

(D) %' 22 %@ Insurance and preservation

35. T3l -*Ff 7 H_f &7 RE 0P 79?2 Which of the following is not the purpose
of enterprise planning?

(A) 4532 & jE 3 prd] %% Assists managers in controlling activities

(B) R prF &m0 f#X R4 K> v Enables managers and organization
members to understand the direction of future development

(C) # ",% + ¥ e} *& Eliminates long-term risks

(D) F 242ty “,ﬁc? P EY EFEAG FE 0 #35F { /T 7 7 Helps eliminate

inefficiencies and wasteful actions and makes plans more realistic
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36. HALHAIE RLATAIA Lk T F A ERIR ﬁ e %’W* B I |
%&Q’K#EFE’,T&ﬁiéi‘ﬁs,‘&y’ﬁg "R BRAEEAKRE R BR

f;é_f, %k *& ? Atechnology entrepreneur gave advice to new entrepreneurs. "If the

homogeneity of entrepreneurial team members is too high and have same opinion

every time they discuss, they won’t be able to think comprehensively and are prone to

make mistakes." What kind of entrepreneurial risks will the enterprise face in the

future?

(A) P47+ *& Financialrisk (B) 54 b *& Operating Risk

(C) &%k *& Partnershiprisk (D) 7= &k *& Legal risk

37. FAEAGEBRSFFT PR BIRGED O T T P B A g K
o0& Al KB I R H S AR B REF T TR R

A supervisor downloads the technical data of the company to his personal storage

N

device without the permission of the company he works for, and later quits his job to
work for a competitor. Which of the following laws did he violate?
(A) ¥ ¥44% ;2 Trade Secretact (B) =~ % % ;2 Fair Trade act

(C) 7 ## Trademark act (D) # % % #3&i# Consumer protection act

38. T A|URIBH e +£_SWOT 4 #7? Which of the following steps is not SWOT
analysis?

(A) ~+7°¢F 3% 8 Analyze environment

(B) Fzid e —‘« % = p &2 § % Identify organization's current goals and strategies
(S «Ll;&’%‘ufi? % %t Define strengths and weaknesses

(D) % =45 ¢ &2 % ¥ Define opportunities and threats

39. ol deirEd RM3,000 45 F > #4155 8% 335 & o & & U435 >
5 &8 0 ¥ B § U 42 Miss Wu plans to invest RM 3,000 with an annual
interest rate of 8% for five years. How much will she get back after 5 years, at

compound interest every year?
(A) RM 4,408 (B) RM3,240 (C) RM 16,200 (D) RM56,687

10
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40. T FTM- I Rk E Dy b E W IR SR A ¥ A 2 {5 R
1% kad = A& v P 99? Which of the following strategic choices is an attempt
to achieve organizational growth by expanding internally, increasing revenue, hiring
more employees, etc.?

(A) ® ¥¥5% Business expansion

(B) % & it 5% Diversification

(C) & % & P Mergers and acquisitions

(D) €% # & Vertical integration

41, TR B H 4 W% % 0% 22 Which of the following are the purposes
of bill of lading in international trade?

I 549G Document of title to the goods

I & @?J £ Y27 P Proof of transport contract

I ¥ % 2 &k A 08 35 Certificate of origin

IV 3p e Kim& i B Alist showing packing details of the goods
(AL  (B)LIV (C)ILUI (D)ILIV

42, T wR- 38 5 B¢ B chazit 80 #2402 Which of the following statements
about middleman is true?

(A) 2873 %280 F ~4% & | & Retailers sell goods in batches for
manufacturers

(B) f 4 W EF ¥ F{ 4 & F The price of goods goes up with the increase
of middlemen

C) * BRLARF»4 ) &%) § # Middlemen distribute goods to consumers
between producers

(D) *®7E#F b &3 8 ¥ kM £ The agent owns the goods but only earns

commission

11
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A3, FFIRARIPT L L FR A FE o AL RN R L
SRR RN mi\ﬁ";’l ? The departments of a hospital can be divided into medical,
laboratory, pharmaceutical, accounting, research, etc. What type of
departmentalization is this?

(A) # 5t %]$8F it Functional departmentalization

(B) A & %% it Product departmentalization

(C) B % w3/ it Customer departmentalization

(D) #A2%]FRF® it Process departmentalization

44, P RTRF-AELPRFTORTE R AFRPFEL 15 & [
DPBAFENTHRE N EHRAFTLTE?

long-term investment project with a repayment period of 15 years, what is the most

If a company intends to finance a

inappropriate way for the company to raise the required funds?
(A) % * B A% Credit loans (B) ¥ ## = @ i Convertible loan shares
(C) ¥ &4 Retained Profit (D) 4% %] "X Preferred shares

45, X i TR H - TR 4o ,T*mr\ B TR R e » 0 ERiTE KT
e r e L Lo R e 2 SR P A £ 48 % 2 An online celebrity has
become one of the top 10 earners in recent years, totally relying on publication since
the first book. What kind of entrepreneurial category does the —online celebrity
belongs to-?

(A) %7%{74V%f Business marketing (B) F 3 JR#+%¢ Information Service

(C) & %3947 Professional consulting (D)£] R PR7%%f Creative service

12
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46. bR FERY > - EFFERLPEB A DR S fofrc e 0TI R
1 721 7 In a business organization, there are factors which directly influence
voluntary individual behavior and performance. Which of the following is correct?
(A) #7512 > 4 > & 4 g ofol- 8 512 Motivation, ability, role perception and
situational factors

(B) % @@ > it 4 0 & B Aol FlF  Values, ability, role perception and
situational factors

(C) %% > % &¢ g {3 Fl & Motivation, emotions, role perception
and situational factors

(D) &% % > it 4 > & B {o 8 F1& Motivation, ability, attitudes and situational
factors

E. #4# %% >4 > &J g {o/&B4 F]-% Motivation, ability, role perception and

stress factors

47 Rl P N RF B A MR edons o R a1 A0
Employee’s emotional intelligence can significantly improve individual, team, and
organizational effectiveness. What is the meaning of emotional intelligence?

(A) 272 pehfary FreEgy > ¥ Papg 2 {oiirE € |1 me
FEeE Rk % 2% The Company must provide training to all its employees
on regular basis to correct their feelings and emotions, so that employees do the right
things to improve the organizational effectiveness

B) FEAHEFR I AR Lol T G TARHER 1 O BfoFE
The manger’s ability to counsel his employees’ feelings and emotions, to use this
information to guide them on their thinking and actions

C) Rrihdsp o A g el s > 2 FAB P L)% 7
LR % 4 Wpedor L anX -7 5 Employees’ ability to monitor their own and
others’ feelings and emotions, to differentiate between feelings and emotions, and to
use this information to guide their own and others’ thinking and actions

D) @R FL9F A1 HREVWFDFFFE] > RAL ) 4 LEFTPA{B 2
%‘« e o FIE FAlit 4 The company must provide good salaries and benefits to
all employees, so that the employees are motivated to improve the organizational
effectiveness for high profitability within a short time

13
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48. ~ S w2 vE F e ﬁ‘« Peng &2 T & 2 5 B F14 - Most crises that
happened to business organizations involved the following parties:

1. E_%k P g4 4 %)% Human involvement within the organizations

II. ‘e ﬁj—‘i%‘« ‘b en % f5 %1% A villain outside the organization

II. T‘ *bengg £ 4 B ¥]2 Innocent persons outside the organization
IV. = § & p 22 % % F]% Weather or natural disaster

V. 505 B % F] 2 Political situation

(A) L, I, TIL, IV, V.

(B) L IIL, IV, V.

(O)IL 1IL, IV, V.

(D) 1, 11, I11, V.

(B) 1, I1, TI1, TV.

49. F R bEF it L3 FHREL T A A& F & Inorder fora
contract to be enforceable in a court of law, the basic elements required are:

(A) £ & Yoz BE L8 % ol ¥ FE T 2 T F # Offer, acceptance,
legality, consideration (price), certainty, capacity

B) 3 &F I 2REL G ReEZZEMG > REE 0 2 LF R Offer,
acceptance, intention to create legal relations, no mistake, capacity

©C) FRABME2ZEM G PR f & §# mTd 2 TF # Intention to create
legal relations, time, consideration (price), certainty, capacity

M) L& H > I 3E@ BT TG w2 T F R Offer
acceptance, above 18 years old, consideration (price), certainty, capacity
EB)i>RH I >2HEX >3 AREZZEMG iR mI 2T FR
Offer, acceptance, intention to create legal relations, consideration (price), certainty,
capacity

14



2022 F— R KAERIEEE - BEEE
1t NCKU Business Studies Competition 2022
Commercial Science

SO. FaH B A R ha B, F 0 F i EEBLE S o AEF
/T % B3 DA contract of sale of goods refers to when a sale occurs , the ownership
or property in goods passes to the buyer. In this case, there must be:

(A) P4 > o ®E P PG 0 @8 Goods, price, transfer of property,
transportation

(B) 4 > Bt ;[ 4 G $ Goods, price, transfer of property

©C) F# Bt 7 LWREE o & #E |4 4% # Goods, price, intention
to buy and sell, transfer of property

D) b+~ G~ p 872733 F Goods, price, goods sold non-returnable
EB) F2wap¥F AT om §if #EERF 93  Buyer check the goods
properly, price, transfer of property

15



